2
3 3
= x2+§x+3z
@ x> -3x+ -

®

X=X+ =

3
x2—2><xx§+

2

3)2

=x*-3x+ >




(2x-a)? =4x* +12x+b D W, a+ b & F27(D, a, b= F)

® -12 @ -6 <E§>6 @ 12 ® 18

B

(2x)2 -2x2xxa+ (-a)? = 4x* — dax + a*> °|B=E
—4a=12, a= -3

b=a*>=9

Ca+b=(-3)+9=6




3.

a>0,b<09 W, Va®+ /(-b)? - Vda? — Vb2 & 74t

@D -a-b @ —a-2b

@—a ® —a+2b
B

®a

a>00922 24> 0,

b<0°B2 —p>0,b<0

(V&P + /B~ /P - VPP
=a+ (-b) - (2a) - (-b)
=a-b-2a+b=-a




4. x<09d, /(-3x)2- /(5x)2 - /(9x?) & 7S

20
oli

F?

® -5x @ x @Em @ 11x ® 13x

B

x<0 g, -3x>0, 5x<0, 3x<0°]|BZ
VB - P - /)

= —3x — (=5x) — (-3x)

= -3x+ 5x+ 3x = bx




5.

me
£
o,
-+

(=D + D+ 1)+ DS +1) = x +b
tiste] a — b o] gH-2?

o7 @ 9 ® 15 @17 ® 25

(x =D+ + 1) +1) (2% +1)
= (2 -2+ 1) +1)(x® +1)
= (- DA+ D) (S + 1)

(x® - 1)(x® +1)

O — 1

X4+b=x%—-10B2 g=16, b= -1
La—-b=17




6.

(3x-1) <
&

x+§

1 1
)(xz+§) = 32+ bolA T A% a, b O F ab O




3] 57

7. 0<x<79u, Vx2-16x+ 64— Vx2 + 10x + 25 = 7+t
@—2x+3 @ 2x+1 ® -2x-5
@ 3x-1 ® -3x+1

&8

Va2 — 16x + 64 — Vx2 + 10x + 25
= J&-92- /x+5)?

— |x— 8 - x +5|




8. FAFa bolUdtda-b<0, ab<0% W, Va2 —6ab+ b2 -
Va® = 2a + 1 & 7¥s] opH?

@ -2a-1 @3b—1 ® 3b+1
@ —2a+3b-1 ® 2a+3b+1

B ‘

a<0,b>002=2

Va2 — 6ab + 9b2 — Va2 —2a + 1
= V@@= %F - =T
=la—3b| —|a—-1|
=-a+3b+a-1=3b-1




® 2x24+7x+6

® 3x2+Tx+2

@ x%2-4

@ 2x% +3x-2

@x2—|—x—6

oy

o

)

ol

pu

|

e

1jo

_:_I

i

0|

)

[N}
N+
N T
Tt = H =
S r DI
\l/\l/3\L/1]
e £ D
[ —
22888y
0O O H




10. 22 -7x+A7Fx-2 2 U] Hojd o, A 9] ghs F5hH?

@)e @ 5 ® 3 @ 0 ® -9

232 -Tx+A=(x-2)2x-3)=2x>-Tx+6
L A=6




11, x(x4+1)(x+2)(x+3)+1°] (B +bx+c)? L2 QLR D uf h—c
o] 27

® -2 @ -1 ® 0 @ 1 ®3)2

x(x+1)(x+2)(x+3)+1
=x(x+3)x(x+1)(x+2)+1

= (x> +3x)(x2 +3x+2) +1

x? +3x=A 2t std

A2+ 2A+1=(A+1)2 =(x*+3x+1)?
Lb=3,c=1

Lb-c=3-1=2




12.

o x(x+ D) (x+ 2)(x + 3) + 1 & A5E5fotA?

@ (x> +3x+6)2 @ (x2+3x-1)2 ® (x> -3x+3)2
@ (x® - 5x+3)? @(x2+3x+1)2

B

(2 +32)(x? + 3x +2) + 1

x*+3x=A 2 5tH

AA+2)+1 =A242A+1=(A+1)?
= (x® +3x+1)2




®x+3 @x-1 @a+b @x+y

® x+b

X taxy-x-y=x(x+y)-(x+y)
(x4 y)(x-1)
ax+ay+bx+by=a(x+y)+b(x+y)
= (x+y)(a+b)




14. 9= T x° +y-x-x%y o 57 opd A7

@xz—y @ x-y ® x-1
@ x+1 ® x?-1

B




@ V32-2V20- V(1 +2V3) =3V2-26
® (V63— V35)+ VT =2-+5

1 1 2v2 1 56
@ () () =

124+3v6
(@) 7 =4V3+3V2

S5
g V8-2v3
@75(\/3—‘/5)4—7
6V3(V3-V2) 4-26
- : + 2=
=2V3(V3- V2) + (2~ V6) =8-36
@ V32 -2v24 - V2(1+2v3)
=4V2-4V6-V2-2V6=3vV2-66

® (VB3 V35) + V7 = YO3= V35

V7
=V9-V5=3-+5
1 1 242 1
_<i§+i§>+<«/§x2ﬁ_i§)
vz V3 3 3

- (B 0) 4 (28-1)

:(ﬁ+ﬂ€)+(l_1):7«/6

2 3 6
@ 12+3V6 _ V3(12+36)
V3 3
_12V3+9v2

3 =4vV3+3+2




16. /(267 + (-2V3)? - «/§<\/ﬂ-

9, a+b 9 G2, a, b= FET

@ -15 @)15 ® -9 @9 ® o0

6+12-6V2+3=21-62
La=21, b=-6
L atbh=21-6=15




17. AALn o tiste] vn o] A= BE-S f(n) o2t 2 o, £(80)+f(45) =
avVs + b olth. o] ul, 24 + b ©] FFS F5HH?

@ -28 @ -7 (@)0 @ 7 ® 21

B

i)8< V80 =4v5<9 - f(80)=4V5-8

ii)6 < V45 =3V5 <7 .. f(45) =3V5-6

5 f(80) + f(45) =4V5-8+4+3V5-6
=7vV5-14

7V5-14 =aV5+bo|EE

La=Tb=-14

L2a+b=14+(-14)=0




18. %1% n o Histe] yn O] A% BES f(n)olat & w, £(175) -
2f(28) = aV7 +b oIt o] W, ab o] F& F5hH?

-5 @-s ® -1 @ 1 ® 3

B

i)13< V175 =5V7 < 14
s f(175) =547 - 13
i)5<V28=2V7<6

5 f(28) =247 -5

S f(175) = 2£(28) = 5V7 =13 -4+7+ 10
=\7-3

Vi-3=aV7+bo|B2

a=1,b=-3

. ab: 1)((—3) = —3




